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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 8657993367 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Language development 1 all children begins with babbling 1s an 1implication of
this Principle of Growth and Development
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Options :
Principle of Individual differences
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1. ®
Principle of Uniformity of pattern
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2.
Principle of Rate of growth and development is not uniform
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Principle of Development proceeds from womb to tomb
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Question Number : 2 Question Id : 8657993368 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
An mdividual during his adolescence, once again like in infancy experiences
emotional mstability. This can be explained as human development
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Options :

moves from whole to parts
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1z simple and not complex
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1= not continugus
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Question Number : 3 Question Id : 8657993369 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Sentiments begin to appear during this stage
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Options :
Later Childhood (6 to 12 years)
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Early childhood ( 2 to 5 years)
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Infancy (O to 2 years)

35 &% (0 o0& 2 Hosddoren )

Adolescence (13 to 18 years)
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Question Number : 4 Question Id : 8657993370 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Vaaman lives in a joint family. His teachers and friends find him very adjusting
by nature and behaves well with all people. Here, the factor that affected the
personality of Vaaman is
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Question Number : S Question Id : 8657993371 Question Type : MCQ Option Shuffling : Yes Display
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Correct Marks : 1 Wrong Marks : 0

The age span for the stages of Erickson’s Psycho-Social development is
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Options :

Birth to 65 years
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Birth to 20 years
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Birth to 45 vears
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Birth to later adulthood covering entire life span
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Question Number : 6 Question Id : 8657993372 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Ryan was telling his mother, ‘amma, you know among our five friends Sharan 1s
the tallest and next is Kiran then me, after me it is Suraj and last is Rajath.’
This type of ability for serialisation develops during this stage of Piaget's
Cognitive Development

SOIrS &% $D&°, ‘wir, r ahid Hirdes® 86 FEFED, sHhrd 555, ©
BETE I, T TS GBS, DHOTD S8’ 0l DenaryD. DB GnE) HoTTeE S

P ey T B o oo ; Gy 5
Dseio Gwd) & 556" SmBEHo 503 (HBcHBENS) Pnio 08 Bothob

Concrete Operational stage
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Formal Operational stage
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Intuitive phase
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Pre-Conceptual stage
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Question Number : 7 Question Id : 8657993373 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following. identify those that DO NOT influence intelligence
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) Age
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B) Gender
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C) Race
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Choose the correct answer
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A & B only
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A only
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Question Number : 8 Question Id : 8657993374 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Chanchal's parents do not allow her to eat what she likes saying it i3 not
healthy. don't allow her to play outside as she gets dirty and put many such
restrictions but always demand her to be the best in studies. This reflects one of
the following child rearing practice
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Permissive
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Question Number : 9 Question Id : 8657993375 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Daamimi who got less marks in the exam was scolded by her father. After
coming to her room, Daamini shouted at her pet dog ‘get out of the room. I want
to stay alone’. This is an example for the defense mechanism
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Identification
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Question Number : 10 Question Id : 8657993376 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A researcher wanted to study the differences in growth standards of two year
old children of two ethnie groups. The most appropriate method would be
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Experimentation

eivrale]

longitudinal study
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Question Number : 11 Question Id : 8657993377 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Change 1n behaviour because of learning 1=
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Question Number : 12 Question Id : 8657993378 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
This health of a learner will greatly affect his learning
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A) Physical
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B) Mental

Choose the correct answer
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Question Number : 13 Question Id : 8657993379 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One of the following is NOT a step in learning process according to Thorndike
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Options :
Insightful selection of response
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Question Number : 14 Question Id : 8657993380 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the example for conditioning
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Options :

A child playing a kitchen game
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1. ®
A child solving a crossword puzzle
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A child trying to fix broken parts of toy randomly
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A child coming out of fear of strangers through a therapy
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Question Number : 15 Question Id : 8657993381 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Operant Conditioning advocated for avoidance of
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Pozitive reinforcement
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Question Number : 16 Question Id : 8657993382 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the example for ‘vicarious learning’ among the following
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Options :

A boy speaking in low pitch like his grand father
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A girl watering plants like her mother
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2. %
A boy combing like his father
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A girl seeing the praise her older sister received for respecting elders, also
respects elders
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Question Number : 17 Question Id : 8657993383 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Some schools are known for producing good sports persons. This shows that

these schools have given adequate weightage to this domain
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Question Number : 18 Question Id : 8657993384 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which among the following i3 NOT a technique of motivation in the classroom?

Sob & S51E NHE° s droshis R0 087?

Options :
Teacher centric methods
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Child centered approach
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Question Number : 19 Question Id : 8657993385 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Virat's father has opted for ‘horse riding’ as the mandatory additional activity
for Virat at school but Virat was not interested. He attended one class of ‘horse
riding’ every week for one year during which he learnt basics of ‘walk’ and
‘trot’. After summer vacation when he went for horse riding class he could not
do the earlier learnt ‘walk’ and ‘trot’. The reason for the failure in performance
can be attributed to this because of disinterest in horse riding
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Proactive inhibition
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Question Number : 20 Question Id : 8657993386 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Transfer of training
3865 oBePoN0Y
Options :
can be partially positive and partially negative
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Question Number : 21 Question Id : 8657993387 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One among the following indicates the paradigm shift for effective teaching
after the advent of humanism
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Options :
Competition 1s more relevant than cooperation and social values
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Teacher as a facilitator rather than an instructor
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2.
Values are to be taught rather than exemplified in behaviour
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Passive listening 1s preferred mode of learning than enquiry
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Question Number : 22 Question Id : 8657993388 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who among the following combine in ‘Team Teaching?’
808 786" ‘B85 $D0F'S® 508 Gold 5% ?
A) A distinct student group
2.8 HEEIS oy Jeraro
B) A small faculty group responsible for teaching student group
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C) Certain persons who assist the teachers and students
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Choose the correct answer
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Options :
A & B only
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Question Number : 23 Question Id : 8657993389 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which among the following indicates ‘activity” and NOT ‘activity based

learning’?

[

2 2 s w3l o a 4

Eof =& e g.;» e O 2
)

&

T e I A =
codeed odd SPE0TE°, -:ir',‘l?:&:u'g- Lo
g ¥ ] -

Options :
Physical movement
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Thinking and reasoning
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Taking initiative
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Question Number : 24 Question Id : 8657993390 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the Rights of Persons with Disabilities (RPwD) Act, 2016 the percentage

of posts to be filled by persons with ‘blindness and low wision’ among those

meant for the persons with benchmark disabilities in Government institutions
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Question Number : 25 Question Id : 8657993391 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the major shift in teacher education programme recommended by

National Curriculum Framework, 2005
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Passive reception in learning to active participation in learning
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Learner centric to teacher centric
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Knowledge as created to knowledge as given
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Display Question Number : Yes

Question Number : 26 Question Id : 8657993392 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A school has introduced some topics on computers from Grade I to introduce the

parts of computers and awareness of their usage. Here ICT 1is
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Question Number : 27 Question Id : 8657993393 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Savitri has a very good job but badly troubled by her husband. She does not
want separation from her husband because of her 5 year old daughter. When
situation worsened to a stage where she had no other option than separation she
got mentally very disturbed. The counselor whom she approached helped her
analyse her problem and find a solution to live with peace and courage. This
type of counseling 1s
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Question Number : 28 Question Id : 8657993394 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Bruner's three modes of representation — Enactive, Iconic and Symbolic
correspond to
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A) Chronological age of the child
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B) Mental development of the child
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Choose the correct answer
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Question Number : 29 Question Id : 8657993395 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Rakesh found that Aniketh a student in his class 15 disturbing all the students
during group activities and is not participating properly in his group. Rakesh
made Aniketh the group leader and told him to report to him the status of work
of his group every 15 minutes. The measure adopted here is
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Question Number : 30 Question Id : 8657993396 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Under the Child Labour (Prohibition and Regulation) Amendment Act. 2016
children are NOT prohibited to work after school hours or in vacation in other

than hazardous occupations or processes if 1t 1s helping
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Question Id : 8657993397 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 34)
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Question Number : 31 Question Id : 8657993398 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 8657993399 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 8657993400 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 8657993401 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Id : 8657993402 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (35 to 38)
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Question Number : 35 Question Id : 8657993403 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 36 Question Id : 8657993404 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 8657993408 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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1

o

R V- (e S o R Yo
635 a8 i’ s ?

by

2.9

SR B8
3. %

FAlatalelals!
4, ®

Question Number : 47 Question Id : 8657993415 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

[P ) e ey
FHD o DTS Hoerdhntio SN

Options :

o)

1. %

SR E Al
2. %

s

L-c.éé
3. %

o Fut

6;-&@-:‘1”



Question Number : 48 Question Id : 8657993416 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 8657993428 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Language II English
Section Id : 865799105
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 865799173

Question Shuffling Allowed : Yes



Question Id : 8657993429 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)
(61-65) Read the following passage and choose the correct option for
each question.

The Western culture 1s individual-oriented. The needs, rights and
privileges of the individual are of utmost significance. Man has learned to
master the forcez of nature under the Western cultural influence. The Western
culture i1s materialistic. It 1s not satisfied with whatever has been gained by an
individual. There 1z always lust for more money and materialistic assets. The
mind, therefore, remains unstable and shaken. The western influences make the
person more logical, calculative and rational. He forgets his taboos and useless

pre-concelved notions, which are normally associated with the Eastern culture.

The Western culture also emphasises upon hard work and toil. It calls for
incessant quest for knowledge. It 1z based on scilentific and materialistic
1deologies. What should we adopt from the Western culture? Naturally, we
should assimilate only those plus points from that culture that are suitable for

us and those social norms that can be accepted by our masses easily.

Sub questions

Question Number : 61 Question Id : 8657993430 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following iz not mentioned as a characteristic of the Western
culture in the passage?

Options :

Spiritual contentment
1. ¢

Individual grientation
2. %

Rational thinking
3. %



Scientific ideology
4. %

Question Number : 62 Question Id : 8657993431 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the passage, the Western cultural mindset affects a person’s mental state

which due to materialistic desires.

Options :

brings peace and contentment
1.

keeps the mind calm and focused
2. %

leads to an unstable and shaken mind
3. ¢

completely detaches a person from reality

Question Number : 63 Question Id : 8657993432 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The passage describes the Western culture as being based on
Options :

emotions and traditions.
1. %

science and materialism.
2. ¢

art and spirituality.

superstition and myth.

Question Number : 64 Question Id : 8657993433 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



What does the passage suggest to us to adopt from the Western culture?

Options :

Full replacement of the Eastern culture with the Western norms

Adoption of all the aspects of the Western norms without discrimination

Rejection of the Western culture entirely

Selective adoption of the suitable and acceptable elements from the

Western culture
4. &

Question Number : 65 Question Id : 8657993434 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the passage, the Eastern culture when compared to the Western culture

Options :

1z more technologieally advanced.
1. ®

avolds material pursuits and promotes logical thinking.
2. %

mecludes taboos and pre-conceived notions.
3.9

emphasizes individual rights over collective duties.
4. %
Sub-Section Number : 2
Sub-Section Id : 865799174

Question Shuffling Allowed : Yes



Question Number : 66 Question Id : 8657993435 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the option that correctly sequences the following sentences.

A) Finally, she ran quickly towards the bus stop.

B) Of late. Rushmika realized she was late for school
C) At once. she grabbed her school bag in a hurry.
D) It was a bright and sunny morning.
E) Without wasting a moment, she put on her shoes and rushed out.
Options :
C.E,B,D A
1. ®
B.D.C.E. A
2.
D.E,C,B, A
3. ®
D.B,C . E.A
4. ¢

Question Number : 67 Question Id : 8657993436 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The manager admonished the worker for negligence.
Select the synonym for the word “admonished”.
Options :
Praised
1. ®

acolded

. approved
3.

encouraged
4. %



Question Number : 68 Question Id : 8657993437 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Himalayasz are located in northern part of India and are home

to number of rare species.”

Fill in the blanks with appropriate articles:
Options :

The, a, a

the, a, the

The, the, an
3. %

The, the, a
4. &

Question Number : 69 Question Id : 8657993438 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Your arguments are very

Choose the correctly spelt word.
Options :

o Bereu asive
1 . o

parsuasive
2. %

persuesive
3. ®

persuasieve



Question Number : 70 Question Id : 8657993439 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the silent consonant letter in the word “subtle™.

Options :

i}

Question Number : 71 Question Id : 8657993440 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the meaningful sentence.
Options :

I was annoyed because I had overcharged me.
1. ®

They had overcharged me because I was annoyed.
2. %

I was annoved because they had overcharged me.
3. ¢

I had annoved because they was overcharged me.



Question Number : 72 Question Id : 8657993441 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

After a long argument, he finally to their demands.

Choose the correct option to complete the sentence.
Options :

gave up
1. *®

) % put Off

turn in
3. %

gave in
4. ¢

Question Number : 73 Question Id : 8657993442 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

We have known one another for several years.
A B C D

Options :
1. ¥ C

B
2. %

A
3. %

D



Question Number : 74 Question Id : 8657993443 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The principal said to the parents. “Your children have been regularly missing
classes.”
Choose the appropriate reported sentence.
Options :
The principal told the parents that their children have been regularly

missing classes.

1. ®
The principal told the parents that their children had been regularly
missing classes.

2. ¢
The principal said to the parents that their children were regularly
missing classes.

3. %

The principal told to the parents that your children had regularly missed

classes.



Question Number : 75 Question Id : 8657993444 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Let’s go for shopping.
Choose the correct option.
Options :
did we
1. ®

can he
2. %

shall we
3. ¢

can't we
4, %

Question Number : 76 Question Id : 8657993445 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the grammatically INCORRECT sentence.

Options :

The luggage was loaded into the van.
1. %

The scenery of the place 1s stunning.
2. %

The equipment is brand new.
3. %

The news are misleading.
4. ¢



Question Number : 77 Question Id : 8657993446 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the grammatically correct sentence.

Options :

She must had gone before the storm started.
1. %

He could have passed the test if he had studied.
2.

They would went if they had known.
3. %

You might has told me earlier.
4. %

Question Number : 78 Question Id : 8657993447 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
He forgot his umbrella. He got wet.

Select the correct sentence formed with the two sentences.
Options :

He forgot his umbrella and therefore he got wet.
1. ¥

He got wet because of his umbrella forgot.
2. %

. Because he forgot, he got wet of umbrella.
3.

Though he forgot his umbrella. and he got wet.



Question Number : 79 Question Id : 8657993448 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Had I known about the traffic, I would have left earlier.
The meaning of the sentence 1s:

Options :

I knew about the traffic but didn't leave early.

1. %
I didn’'t know about the traffic: otherwise, I would have left earlier.
2. %
I would have left earlier so0 I know about traffic.
3. %
I ignored the traffic on purpose.
4. %

Question Number : 80 Question Id : 8657993449 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Why does he ? I don't know.

Choose the correct option to complete the sentence.

Options :

behaves
1. %
behave
2. %
behaved
3.
behaving

4. %



Question Number : 81 Question Id : 8657993450 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Professionals have translated the book into many languages.

Identify the correct passive form of the sentence.
Options :

The book was translated into many languages by professionals.
1. #

The book had been translated into many languages by professionals.
2. %

The book 1s translated into many languages by professionals.
3. %

The book has been translated into many languages by professionals.
4.

Question Number : 82 Question Id : 8657993451 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The committee was entrusted the task of drafting the report.

Choose the correct option to complete the sentence.

Options :

with
1. v

%tﬂ

of

by



Question Number : 83 Question Id : 8657993452 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

________ computers are common 1n schools these days, students do a lot of
their work on them.
Choose the correct option.

Options :

Although

However
2. %

Since
3. ¢

In spite of

Question Number : 84 Question Id : 8657993453 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the correct option with regard to correctness of the following sentences.

A) They did not believe that they will doomed.

B) Itisreally a incredibly beautiful place.

Options :

Only the Sentence A 1s correct.

1. %

Only the Sentence B is correct.
2. ®

Both the Sentences A and B are correct.
3. %

Both the Sentencezs A and B are not correct.
4. &



Question Number : 85 Question Id : 8657993454 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In value-based communication. which principle is most essential for resolving
conflicts?
Options :

being assertive without listening
1. #®

using persuasive techniques to dominate
2. %

active listening with empathy
3.

avolding eye contact
4, ®

Question Number : 86 Question Id : 8657993455 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following is not associated with ‘scanning’ as a reading strategy?
Options :
Looking up for a word in the dictionary.

1. %

It 1s employed to get global 1dea of the text.
2.¢

Picking up the departure timings of a particular train from the railway
time table.
3. %

Reading the headings 1in a news paper.
4. %



Question Number : 87 Question Id : 8657993456 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What 1s the main goal of remedial teaching?

Options :

To test advanced learners

To strengthen the areas of weakness in students’ learning

To introduce literature

To provide extra practice in LSRW skalls
4. %

Question Number : 88 Question Id : 8657993457 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What 1s the primary principle behind the selection of vocabulary in language

teaching?

Options :

Length and difficulty of words
1. %

Literary beauty
2. %

Frequency and usefulness in communication
3.¢¥

Random inclusion of words
4. %



Question Number : 89 Question Id : 8657993458 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Chooze the correctly matched one.

Method/Approach Associated with
A)  New Method (1)  Communicative Language Teaching
B) Oral Method (1)  Dr.Michael West
C) Bilingual Method (111) Harold Palmer
)

)

NS Prabhu (iv) C dJ Dodson

Options :
A-an, B-1, C-iv. D

], %

A1, B-m, C-1v. D1
2. ¢

An, B-m, Ca Dav
3. %

A-v, B-1n, C-m1. D1
4, %

Question Number : 90 Question Id : 8657993459 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A test 1s said to be reliable when

Options :

there is consistency in scoring.
1.¢

1t tests what 1t 1s supposed to test.
2. %

it 1s practicable.
3. %

all the test takers score equal marks.
4. %



Social Studies

Section Id : 865799106
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60
Number of Questions to be attempted : 60

Section Marks : 60
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 865799175
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 8657993460 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
These Mountains form the Southern boundary of Europe
& SO @ren AUrPDD PoreE B HSBIPOT B0

Options :

The Eural Mountains

The Caucasian Mountains
SPER00R DU @ren

2. ¥

Pyrenees Mountains

Carpathian Mountains
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Question Number : 92 Question Id : 8657993461 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Most of the rocks under the soil in Telangana Consists of Granite, which are

Booiresd” oo 8ol &5 ordd” 0%

W T8 153 grifo (PIS &° Erl Gotron, 83
Options :
Loose and Pervigus Rocks

. s s = E 3 'E":" ™ - -
athene sBdn U e Bd TP,

] ® :
Hard and impervious Rocks
ﬁég 3080in A% end T
2. ¢
Sedimentary Rocks
BN S I BeED
3. % o

Metamorphic Rocks

Erarost deen



Question Number : 93 Question Id : 8657993462 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Himalayan Mountains which stretch over the northern borders of India are
of

Iy T 2B Lo " o on 2o
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o L

Options :
01d Fold Mountains

o - Lt e L
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1. %
Residual Mountains
B3583) 2O B en

2. % =
Volcaniec Mountains
tﬁl"'l-“w} Ll

3. %

Young fold Mountains

&
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4. &
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Among the following. the river that originated in the Betul district of Madhya

Pradesh and flows towards west
5 2erés® &850, &

E0f S,
Options :
Narmada
R8,85
1. #
Saraswati
Eﬂtﬁ%ﬁ;@

2. %

Tapati

fnles

3. ¢

Chambal

)

!

ud =
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This involves ‘conversion of water vapour into droplets of water or crystals of
1ce’
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Options :
Evaporation
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Transpirtation
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Humadity
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Condensation
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The winds that blow continuously and regularly above the world pressure belts
are known as
o Hgs Dyes® dbodoradorr , Behaorr DT oo Ser WotrS:
Options :
Hot Local Winds

Lt A g ;
5oy a0l 2dPen
i @

1. %
Cold Local Winds
e PIE HdTren
2. % ¢
Seasonal Winds
any L1 VIS VLY
3. %

Planetary Winds
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This type of forests are found in the regions very near to the equator and close

to the troplcs

% 55D edsden g0 od &

15 s0B0I ashodere HebDomm &)

Options :

T e T 5o R
SEICL e (B edden
1. %
Coniferous Forests
%&DF‘F“S"CS eatiayen
2. %
Tropical Evergreen Forests
ﬁéé&‘i:{:-dﬁa DS SOE elden
3.

Tropical Deciduous Forests
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According to Kyoto Protocol. its aim of ‘bringing down the release of Green

House Gaszes to less than 5.2%" to be achieved between these years

= wiomE
, B8 5 srdinde DHBend 5.2
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Options :
1997 and 2008
1997 5800 2008 508

2008 and 2012

2008 s»8acin 2012 558
2. ¢

1997 and 2005
1997 508d50 2005 A
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The main food crop in north and north-western part of India 1s

M T AR ¢ oL Oy ado T S, - _—. £ ~
PO80F0E ) 680 NG PO Eroded” Dot RIPN B3:3°0 Dok

Options :
Paddy

Wheat

Athsn

3.¢

Jowar
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In the third phase of Green Revolution i.e. 1990s to the present. the Indian
farmers
5B Divdo G SrEs S¥6° edmr1990s S0l I $8%, 88D Gdben
Options :
have invested heavily on getting irrigation facilities to their farms

- . - - F Eiy g 3
28 Pereh Jarthde FPETed Poltrils erbr Dénal E;éj;‘tn:n
1. % -

began to use the High Yielding Variety Seeds

6% BrhaddB) 8D S eidrAodto Erdodlomd

2. %
have increased using Chemical fertilizers and machinery such as
tractors
Sarain altva)en sHOC EPEY Hot) dhogre ariso RowTrh

3. %

have sold their produce to markets within the country and to the
Government through the FCI

76 &8 %o 050" {r0)0d Héch FCI ooyoe H2hae:08 donomd
4.9
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In India. most of the Jute mills are located in West Bengal mainly along the

banks of this river

gr880EoE ) H3ED Borrad”, mdnTrd heen PTPHoT & 56 E,C‘F&E £557°)00
Options :
Hugh
a0
1. v -
Ganges
Hore
2. %
Mahanadi
PS8
3. %
Brahmaputra
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Which one of the following term 1= used to describe trade between two or more

countries?
eyl ” b P - - , P foe
Goth Srr @oddol) 25 Bove i rderd) DH0oNTAS & Bob 7ES° BAD

Options :

Local trade

P8 aPeBezo
1. # &
Mutual trade
208:0)8 aredeyo
2. %
Internal trade
LoddE arero
J ;
3. %

International trade

n
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India 1s critically deficient in the reserve and production of this mineral
O80F0S", & Ples Ve HBOM GBS & 5708 tob

Options :

Bauzxite

g8 65
(Y,

1. ® -

Iron ore
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This organisation was established in 1960 for the development of the roads of
strateglc importance in the northern and north eastern border areas of India
1960¢° 88
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Options :
National Hishway Authority of India

o8 eplich S @@6{5

Border Roads Organisation

9B BRE Bod
2. ¢ TR

Central Public Works Department

B e 3 =
S0l (38DE; serBerare IoY
3. ®

The State Public Works Department

-
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In Manipur, Maira Paibi was originated as a movement to prevent

B R - e ; N T . )
30eBarOe”, Had darBoditers dhor 2d 2.8 &8:3horT & aotod

Options :
public disorder due to aleohol abuse in 1970s

1970e&" shio Do) nerdd” s Al

1.
the army from entering into their region
| s o 5 o oy
50 7B Erodod S HadouTEa)
2. % )
the terrorist groups from entering into their region
- A = - r, L& o
&S (Pen 28 Erodos s HEdod e
3. %

the tribal people from entering into their region

R A Do R &
ABesd plesen a8 EPoBos°S Hadodteiy
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Among the following. the permanent members of the UN Security Council were
& 808 #86°, UN gffae £0806°0 a0d:8 Hehyen
Options :
USA, UK. Russia. Germany and France

e -~ s > _ o A= N —
AX0.0lR.w. , A0S , BaP:, Eﬁ-ﬁéé s00d0 §PRy

1. %
USA, UK, Russia. China and UAE
Gi0.0)R.a)., 608, Jap;, B s06cn UAE
2. ®

USA, UK, Russia. Canada and France

Gi0.0)R.0)., 608, Japy, BAE HHBA
3. %

e
o= edy

USA, UK, Russia, China and France
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In 1992, India accepted the Policy of Liberalisation forcefully because of
the following organisation

1992&°, & 2o 586 s2bmore griE E050 55855 wbE el edaodlod
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Options :
World Bank

e AV e
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International Monetary Fund
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Asian Development Bank
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In India, the first coalition Government was formed under this Prime Minister
PEEGE0E", & KIS0 siiyf;os” Tt 508y EhEe attos
Options :
Atal Bihari Vajpayee

;. T T TR Ty e
E&EE £aTh o o

1. %
Manmohan Singh

- S8R Boh
Vishwanath Prathap Singh
DETH HED Ho

3. ¢

P.V. Narasimha Rao

# i D :
9.9, 8ot



Question Number : 109 Question Id : 8657993478 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
This amendment Act of the Indian Constitution provides for disquahification of
public representatives on the grounds of defection from one political party to
another political party

: “ Lo T AR E o 2B £ prmas & s
& grl8 Tremcoll Dl ura, . Ber Radhes 2.8 Traidh ard Sof S8 oreslah

Options :
6lst Amendment Act

61::_}3 l."iC:"juJ Inlole
L+

1. %
52nd Amendment Act
525 $858ee tSér0

2. %
86th Amendment Act
863) 55308 t9ér0

3. % 5

4?nd Amendment Act

425 #5550 960
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Among the following, the President of India who was elected to the office of
President more than once

ShE
ek

B8of seBE°, 2,583 B0l i Harh TRasIsme oahsd arlis oo
7 e, e o Poaily
Options :
Sarvepally Radha Krishna

v L
rﬂéédo]@ oPLP :f“;?ﬁ-"

Neelam Sanjeeva Reddy

Neo Hodsd B8

Zalar Hussain

=35 TR
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Dr. Rajendra Prasad
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From among the following. these were borrowed from the Irish Constitution

808 PES, 0B Trerrofio ol S58 0asD

Options :

Fundamental Rights

Fundamental Duties of the Citizen of India

gPOE TPl ErEhE dthen

Directive Principles of State Policy
£ é%i—: Ff“-'wg:ﬁ’-‘ £17
3.9
Preamble of the Indian Constitution
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Which of the following writ is issued by the higher court to the lower court to
transfer a case pending with the latter to itself
808 BE° &5)8 Tahardo BIDS Bh% 20 Td & 86 Heoo, 50b BHE
2oloR&’ &3 Em:n i:
Options :
Habeas Corpus
rdcha ER

Mandamus

fvlelata st
2. %

Quo Warranto

5 ot

Certiorari

jtlﬁ siveLle!
4.9
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These Countries were deemed as the original members of the United Nations

Organisation

& Do ofredind Gns) @dBd H¢; BovenT HBNSBTS

Options :
The Five permanent members of the UN Security Counecil only

UN giidae 080D ath g8 Sehred sim |gt‘£-'3:;
1. #
The Allied powers who fought the Second World War only
Bokd ol cndos® Dorere d55S PFords $Hed SrEd
2. % )
The Countries that signed the UN Charter at the San Francisco
Conference on June 25, 1945
2R 25, 194585 78 grdyR%, &s ‘Tados UN 1:1;5_5\__} Hodto TS Oocen
3. ¥

The five big nations of the world in area only
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As per the article 248 of the Indian Constitution. the Union Government 1s

empowered to make laws on these subjects
el -’JDE:TJ;_DFT'::-E‘IEE' @ "b'ﬁf 248 o, & woae
00
Options :
Central Subjects
S0i§ erdlae 5°0 womren

1. #®

Concurrent Subjects
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State Subjects
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Residual Subjects
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Across many countries, Greenpeace Movement has taken up the impact of

,_1_'3.:
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[Tyed
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Options :

Food Crisis in Africa

ok o o £
s@sE” @® Sof o

1. ® )
Climate Change
sPER3 08 Py

2. ¢
Gender mequality
Dofl @z

3. %

Concentration of wealth in the hands of a few people
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In this war. the USA invented and used the Chemical weapons including
Napalm Bombs
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& d‘;’::@c-e-. USA mrarsn srosne&® &S5 Sarahs adtored éa's;eg-. &ndirfotiod

Options :
Vietnam War

ey s e Rovvilale

1. ¥
First World War
088 o dndo
2. % i
Second World War
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3. S Q
The Afghan War
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In 1972, this agreement was signed between India and Pakisthan under the

leadership of Zulfiker Ali Bhutto and Indira Gandhi

ok \ F Lo 5 - rof,
19726, 22856 @d £heT Hbakn moboe rode TrehEd s
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Options :
Tashkent Agreement

J= o &
@ oot aayolio

Simla Agreement

ERRSalale

2.¢
Indus Water Treaty
noth se esholtio

3. %

Lahgre Declaration
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The Tenth Schedule of the Indian Constitution explains
£P5E TreProfodtd HE% S BID B6Hob
Options :
About Panchayat raj and Nagarapalika systems

Domrond Trd B S0 D Hsive Hdod

1. #
About allocation of seats for each state of India in Rajya Sabha
TRayef s’ erEBBF 0" B8 Trapis 5&@; Seronowy i
2. % -
About the Administration and control of Scheduled areas and Scheduled
tribes

TS aroEren 20860 TS B HBared S8 Dadotes DBoD
E [ B =
3. = :

The grounds and procedures for disqualification of public representatives
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One among the following example DOES NOT fall under Unorganised Sector

Sofy arrsrlosed” 2583 oiiosntdd Sorris Dot

Options :

3. ¢

A farmer cultivating his land

) E::T = &1e) "_*ﬁ“c\_. n_ Nilay 3&;)%.}0!“““{“ {5@;

A daily wage labourer working for his contractor

&5 SolrEE B85 ST B0 E79

A doctor treating a patient in the Government hospital

A R N W o Rl VB s :T-v:ﬁ
@Jﬂ'ﬂ" g’-‘{‘&'{l},é’@ 5°A8 E,-:.ﬁ_’;i-! L,-:\.u :'d XAy

A handloom weaver working on a loom in her house
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At present, this Sector contributes most to the Indian economy

Bisa0. & Bolfo erde @88 £E5% e ptom BrunthE on

Options :
Service Sector

=
2

2o Doflo

1. ¢
Agricultural Sector
Srdardd Soilo

2.8
Manufacturing Sector
S5 Sollo

3. %

Small Seale Industrial Sector
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The Human Development Index of China in 2024 is 0.797. Then China falls
under this category
20248° B SPd 08y 508 0.797 e o). ol Pord: 0S50 85 5obs
Bnob
Options :
Very High Human Development

y T Y
0808 s 0dN,5
o5

1. %
High Human Development
6% s odlhH

2. T
Medium Human Development
VAN A o

3. % - e

Low Human Development
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In Dairy Production, the farmer is having his own cattle shed 1n the village.
Having cattle shed in the village comes under this factor of Production
P8 6886, 2.5 0 [Pod” 85 Fod HHHe SLPY) EOA &TD. 2.5 G [rios®

NEIe %’”éé:o DA sodtio & 68,8 52880 Sotid Hilod

1.

Physical Capital
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Working Capital
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National Income 12 also called as

£ S OV w9 a
ePadD STEdiTan BEF BFEE @cdPEtn

=8

Options :

NNP at factor Cost

5208 5000 CS_;f'f: DB o shnelu gt {NNP)
1. &

GDP at Factor Cost

5258 3000 df‘-'*; m_Tt‘:"'?_ a’-”%@?-?i‘ﬁ;% (GDP)
2. ®

NDP at Factor Cost
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3. % :

NNP at Market Price
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The multinational Companies enter the Global Market with the help of
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Options :

UNESCO

WTO

UNO

UNDP
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Consider the following statements related to Consumer Price Index (CPI)

DDEEATR B0 HrEdE (CPI) & Somofod) 8ob D MoS o HbiBosod
S

A)

B)

Different CPIs are published by the Government of India

58 $HEhéo 305 CPlow HHoknod

The CPI is used to calculate the D.A. to be paid to the Government
Employees

B2he: &80 3o D.AS 88,0t5trd8 CPI &ddirAodathdsod

The CPI measures only changes in prices of a few selected consumer goods
at the retail price

58 $5 FQoBE ToHess DIGPE shHe S8 frtyed srgd CPI

Identify the true statements from the given options

3030 oo ool 50N 3&5 JotS o HBoBod

Options :

3.¢

Only A 1s true

A 5:.? el c\ﬂh’&

Only A and B are true

A %86 B 5@ 5359

A, B and C are true
A, B s98acin C en {5052

Only B is true

B sir @b 086
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During the inflationary situation, the Government uses import and export policy
to

#
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Options :
regulate the prices of essential goods

DeErc$id Sode 580D daboBoito 5%

1. ¢
increase the prices of essential goods so as to help the farmers
Q'I‘_'P_}ﬁ DerdhaG &_.(:')Gﬁb m@b el Hed cﬁ'l.‘:“ ﬁéf_.-t\iu oo Bk
2. %
reduce imports to increase the prices of essential goods and help the rich
people
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3. % ’
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The prices of goods sold through Public Distribution System(PDS) are less than
that of the market price, then the difference in price is borne by the
e Bt 56;565;:- (PDS) oe-oe Eﬁufém:-o?j Sihde Sen SF0E S8e SoB &%

- - "{w\ oo o v 1 .i_ i o - - 1-. -
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Options :
The Gram Panchayat
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Government
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supplier

AOHNTIED
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Cooperative Societies
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Ravi wants to deposit certain amount of money in the bank to get maximum
interest. Then, he has to deposit his amount in this account
59 w83 B¢ ol mhE Fo Fnad) Srad Iaroibotmmd. ©8h &%
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Options :
Savings Account

= e
malony §eae

1. %
Small Savings Deposit
0%y Dok geae

2‘ % L= oS
Current Deposit Account
00t5 &ar2eS grae

3. %

Fixed Deposit Account

DEE Garad e
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In British India. the Zamindari system was primarily implemented 1n:

= - o &y A ot e oy SR S T Ay
B8 Bo&AIPE”, a:8botrd S350 EPHore £ prodod” wihen ddbatod

Options :

Bombay and Madras Presidencies

s, s
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1. %
Bengal, Bihar, and parts of Northern India
Bormrs, HiF6 Hbatn &85 FEE0S0SD 5°0 h prosred”
2.
Punjab and Sindh
o B0 Bo§ grosredt
3. %

Travancore and Cochin
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Which one of the following statement best describes the ‘Policy of Doctrine of

it O ol e = ot # E
Sob 8E° O D Dots Tee HoBEses ATPoBIND’ P AN850h?

Options :

Any ruler without an heir, his kingdom would come under C{}ﬂlpﬂllfﬂ rule

2 SroH Bap B Bdbond , B Trayo 50 Jredsts Hiho
1.¢
Any Indian ruler should accept ‘Residents "of the British East India
Company
2 grO8aD reHRS, HOR H5 s0lar E0208 Bohd THEY J wohbbod
2. % B s
The Indian ruler should maintain certain army for the sake of British East
India Company
SR, éw:u B0005P S0 §°X0 grdE aPehen Fod e A0sromrd
3. ®

The Indian ruler should accept the British East India Company to trade
with India without any payment of Tax
lach arekhd SER éa}zé 208G Zo2dD JenHod B35 200y Bhowe
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“When we inflict sorrow on other living beings, we add to our load of sins”. who
taught this?

14 s a S - g s - ) i £k . N 2
oo 388 2Ped thigrd) EOA0DND, hdo 8 arake grTee

Options :
Vardhamana Mahaveera
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Gautama Budha
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Question Number : 132 Question Id : 8657993501 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
“Agricultural transformation was not simply an economic issue. but a political.
social and economic transformation of rural sector.” said by
“Hrbah HBBES SHeo %@6% $¥ois 05, e&oes Solio Gns; oresdah, Arsires Hodn
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Options :
Mahatma Gandhi
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2. %
Sardar Vallabhabai Patel
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Jawaharlal Nehru
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Question Number : 133 Question Id : 8657993502 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following. the prominent Americans who actively campaigned for
political equality and freedom of thought for all people
Bod 8%, & Hrny oMHBEE Tahbhen wotids treldd KErdEo HBch eSS
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Options :

Tom Paine and Thomas Jefferson

s 2D F0bdin il BROR

1.
Woodrow Wilson and Thomas Jefferson
DE” DenyR 50660 Trivh BRGN

2. ®
Tom Paine and George Washington
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(GGeorge Washington and Thomas Jefferson
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Question Number : 134 Question Id : 8657993503 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The Unification of Italy was accomplished by Victor Emmanuel II with the
occupation of

)
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Options :
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Rome
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Papal State
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Question Number : 135 Question Id : 8657993504 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
On 17th September, 1948, this princely state of India was integrated into the
Indian Union
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Options :

Hyderabad
Faglaiectacls

1. ¢
Baroda
28

2. %
Jammu & Kashmir
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3. %

Junagadh
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Question Number : 136 Question Id : 8657993505 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

This act of the British Parliament transferred the powers of the East India

Company to the British Crown

HB5 FODos THH & $&0 &Py Bolalr Soa efrred B8R TrNtsAE ab
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Options :

The Government of India Act, 1909

gROE 22hd: Heno, 1909

1. #
The Government of India Act, 1919
grie Hghe: Séo, 1919

2. % I sy
The Government of India Act, 1858
grD& Hahd: Pé0, 1858

3. ¢ 7

The Indian Independence Act of 1947

gROE crcdod Sévo, 1947
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Question Number : 137 Question Id : 8657993506 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In 1906, a group of Muslim landlords and Nawabs formed the "All India Muslim
League’ at
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Options :
Karachi
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Question Number : 138 Question Id : 8657993507 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In 1941, USA Joined the Second World War, because

19416° & oo D& ehBse Boksd peod mmaﬂ Z608
Options :
Japan attacked the pearl harbor of USA
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1. ¢
German troops sunk the commercial ship. Lusitania of USA
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2. %
USA Wanted to stop spreading of Communism
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Britain and France requested USA to join the war
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Question Number : 139 Question Id : 8657993508 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

After studying Social Studies. a student will be able to

Jrons 2 Foih if;dhko BN B, Hwegd

A) Explain about the importance of Social forests and community -
resources
PaIPRE etiden, el Hdthe GnE) @angys 8ol — APHBodiienibertd

B) Understand the contemporary challenges being faced by Indian Society
POEH Hiireso A 8%) 003y 35y HHSOS SRV ENY ff‘-,f'go SEMSTt oy

C\_}I Understand the time and spatial relational aspects
SP08E — e Howohd woee D80, BNTITE TS otrd

D) Identify the different climatic and atmosphere — aspects / items.
DD SRS, e ©oFEOD HBoSHENdE D

Choose the correct one.
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Options :

A.B.Conly
A, B, C en Smigsh
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ABCD
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B.C.D only

B, C. D en sim@ah
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A, B.Donly

o
A, B, D en simigah



Question Number : 140 Question Id : 8657993509 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement. relating to Social Sciences
=0 I‘-MDEI ReE"
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Options :

Social Sciences reflect the relations between human beings and society
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Social Sciences improves scientific approach
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Social Seiences studies physical world rather than — Social world
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Social Sciences are practical oriented
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Question Number : 141 Question Id : 8657993510 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following List-A with List-B regarding Social Scientists and their

contributions.
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List— A
e — A
(Social Scientists)
(Frosnd T DFEHen)
A)  Karl Marx 1)
=86 &by
B} John Dewey 11)
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C) Max Weber 111 )
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D) Vishnu Gupta v}
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Choose the correct one
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Options :
A-m,B—iv,C—1.D—n
1. ®
A-unB-mC—-1wwv,D-1
2. %
A-1w,B-—1C—m,D-1u
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(Contributions)
(78 Dben / &%)
School 1s the miniature of society
TR Dire: H&fomo
Economies
Studied physical world in the view of

Hegel's dialectical method.
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Question Number : 142 Question Id : 8657993511 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A social studies teacher always encourages her students to visit places of public
importance, historical forts. collection of coins and stamps to enhance their
knowledge and understanding during vacation. The teacher 1s mainly trying to

mculcate this value among students
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Options :

I.

2.

4.

Utilising Leisure time
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Inspirative Values
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Cultural Values

Disciplinary Values
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Question Number : 143 Question Id : 8657993512 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A student tallking about the possibility of a world war based on his knowledge of
previous world wars and of the present conflicts between certain nations reflects
this learning objective
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Options :
Knowledge
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Understanding
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Question Number : 144 Question Id : 8657993513 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A teacher trying to inculcate human. constitutional and democratic values

among students, 1= focussing on achieving this academic standard

Dorsed® ErdDD, trepol HBAM Herdrsy; Jendeid DofroBoSteds HoHa S,
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Options :

Questioning and hypothesis formation
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1. #
Mapping skills
28D fHedEFRen
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Reading the given text and interpreting it
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Appreciation and sensitivity
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Question Number : 145 Question Id : 8657993514 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following, identify the statements relating to constructivist approach

E - A ' e S - - i
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A)

B)

C)

D)

Provides scope to students to explore and construct knowledge
EL‘*CF;?_‘%-@:: @é;&f;ﬂ& 23 &zmﬁ; 08,08508 wsdsrdo sinobh

Provides scope to teachers for chalk, talk method
Salrerones S, 07 DHSS estEo 5Dn0b.

Provides scope for teacher to act as a facilitator

EPEROND 2.8 Peg B0 H;Hirbohidh wdsedo EDrhod

Provides scope for students to plajr an active role

s ﬁ;w LHHES @b PhotheD wiisedo 503506

Choose the correct one.

t\,a{ll % 3.3':':\4:\.- E-LE}C," %ﬂH“

Options :
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Question Number : 146 Question Id : 8657993515 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the correct sequence of steps of Role-play strategy
56 -3 JroseodtD Bipare H8S B, hBoBol.
A) Selecting the situation
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B) Preparing for action
He055 E:-Eg?é:é-:‘io
C) Setting stage show and assigning roles
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D) Discussion and evaluation

E) Enacting the roles
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F} Generalization
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Options :
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Question Number : 147 Question Id : 8657993516 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following. in Edgar Dale’s cone of experiences more abstract
experiences are
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Options :

Dramatic participation

Visual symbols
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Still pictures
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Motion pictures
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Question Number : 148 Question Id : 8657993517 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Hills, water falls, sea—ports, dams, rocks and tea gardens used as resource to

understand earth’s environment come under
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Options
Historical resources
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Geographical resources
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Economic resources
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Scientific resources
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Question Number : 149 Question Id : 8657993518 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The following step of the lesson plan will help the teacher to introspect and to
1improve his teaching.
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Options :

Teacher reflections
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Academic standards to be achieved
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Question Number : 150 Question Id : 8657993519 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One among the following is NOT a formative assezzment tool in Social Studies

at secondary level in Telangana State Board schools

rl

F

O
]

g

%,

(_b

L 2B

808 TBE 288 Beoorn T°F 8% FETed IrGE Pond’

Eméwﬁéé Eh’”?.ﬁ“;oéﬁﬁ PEH0 YRk

Options :
Slip tests
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Project works
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Reflection on contemporary issues and questioning
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Experiments and reporting writing
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